PDUSOO0O Series Panic Device

ASSA ABLOY

The global leader in
door opening solutions

IMPORTANT: PLEASE READ BEFORE INSTALLING THE PANIC DEVICE
The following instructions will decrease your chances of experiencing problems during
the installation and ensure a smooth, trouble-free operation of the Panic Device.

)

—
A\
|

=

\

Copyright © 2017, ASSA ABLOY Inc. All rights reserved. Reproduction in whole orin part

without the express written permission of ASSA ABLOY Inc. is prohibited.

¢

A\

I

N




Table of Contents

To INEFOAUCEION ettt st s et s bbbttt enae 3
TT DESCIIPTION ettt ettt ettt st bbbt b st b et b et e b bt st e bttt eb et et be s et et eae et eseae s 3
To2 PATES LIST et 3
1.3 TOOIS ANA SUPPIIES ottt bbbt s bbbt s st s s n st s nsnes 3
Te4 DOZZING FEATUIE ettt ettt ettt ettt b ettt bt b st e bbbt e b e et eb et st b s et st ebe et eseaenee 4
2. InStructions fOr RAITMOUNT DOOTS ...ttt ettt neees 5
2T DL PATTS LIST ceeuieeieeiieeietsiets ettt ettt 5
2.2 ReMOVAl frOM PACKAZING oottt sttt s e s s s s e s ans s ennaesnesens 7
2.2 INEFOAUCTION oottt ettt 7
2.2.2 Remove Panic Device from Shipping BOArd ..ot 7
2.2.3 Remove HOTZONtal DOOT MOUNT ..ottt 8
2.2.4 Remove Horizontal Door Mount (Deco ENd Cap OPLiON) .oeceeieeieinieeieereieieisee e ssesessesesees 8
2.2.5 RemoOVe VErtical DOOT MOUNT .ottt bbbt 9
2.2.6 Remove ACtUALOr POST ASSEMDIY ..o 9
2.3 Panic DeVICe INSTAIATION .ttt 10
2.3.1 Install Panic Device 0N Rail MOUNT DOOT ..ottt 10
2.3.2 INSEAll DOOT BUSHINGS ottt s et s e naesenanans 10
2.3.3  INSTAIl CBUSHING oottt bbbt s s ssesnes 10
2.3.4 INSEAll MAtiNG PUIL oottt bbb s s et s e 1
2.3.5 Install ACtUALOr POSt ASSEMBIY ovoiieiieiice ettt 1
2.3.6 INStall VErtical DOOT MOUNT .ottt e 12
2.3.7 INStall HOTIZONTAl DOOT MOUNT oottt et 13
2.3.8 Install Horizontal Door Mount (Deco ENd Cap OPLtioN) cceeeeeeriierieiricieieieeieesessiesses s sssssseesens 13
2.3.9 Install Panic Device 0N Rail MOUNT DOOT ..ottt 14
2.3.10 Horizontal End Threadlocker and Lube APPliCatioN ...c.ocueueiiecueiieeeicce et 15
2,317 AlIZN ACTUATOT GAUZE oottt sttt s et se s s e s s st e s s s et et e s sansesesnsansesnanansesnen 15
3. INSErUCLIONS fOT All GIASS DOOTS ...cuuieuienieciiiicitic ettt sttt et nane 17
3.1 DELAIEA PATTS LIST cooeuieieiiieieteiieicie ettt sttt eee st se e b s e bbbttt b st et eens 17

ASSA ABLOY

Th e gl Obal I ead eri n Copyright © 2017, ASSA ABLOY Inc. All rights reserved. Reproduction in whole
dOOF Open | ng SOI LItIO ns orin part without the express written permission of ASSA ABLOY Inc. is prohibited.



Table of Contents (Continued)

3.2 ReMOVAl fTOM PACKAZING cooviiecieiieecieece ettt b st b bbb s st s st es s ansesas 19
3L2.T  INEFOAUCTION oottt ettt nes 19

3.2.2 Remove Panic Device from Shipping BOard .......ccooieeirieieinieeieiesce ettt 19

3.2.3 Remove HOMZONTAl DOOT MOUNT ..ottt 20

3.2.4 Remove Horizontal Door Mount (Deco ENd Cap OPLiON) .oocieeerereirieeieirieeeeeseseieesesseeessssseess s sesenes 20

3.2.5 RemMOVE VErtiCal DOOT MOUNT .ottt niee 21

3.2.6 Remove ACtUAtor POST ASSEMDIY oot enaneee 21

3.3 Panic DeVICe INSTAlATION ittt ettt 22
3.3.1 Install Panic Device 0N All Glass DOOT ...ttt 22

3.3.2 INStall DOOT BUSHINGS oottt s st 22

3.3.3  INSEAll CBUSHING ettt s et s st snanansenns 22

3.3.4 INSEAll MAtING PUIT oottt et 23

3.3.5 Install ACtUALOr POST ASSEMDBIY oooiiiieiiiicteictce ettt 23

3.3.6 INStall VErtical DOOT MOUNT ...ucuieiiiiiciiicieieiciie ettt sttt 24

3.3.7 INStall HOMZONTAl DOOT MOUNT ettt 25

3.3.8 Install Horizontal Door Mount (Deco End Cap OPtioN) .ccccceeeeccieinieeeieieeiesseeiesse et neee 25

3.3.9 Install Panic Device 0N All GIass DOOT ..ttt eae 26

3.3.10 Horizontal End Threadlocker and Lube AppliCation ......cccciiiririeriincncnincinccceeeeeeeieeeseeseeseineeeanes 27

3.3.1T AlIZN ACEUATOT GAUZE  oooeieeeieeieiceete ettt sttt s et s et s st s b st es b nsesensanaesensnas 27

4. SEITIKE INSTAIATION ettt bbbttt 28
4.1 Header Preparation for Single and Double Manual Strikes with Adjustable Door StOps ......ccceveveneincireineins 28

4.2 Header Preparation for Single and Double Electrical Strikes with Adjustable DoOr StOPS ...ccceeveeiecvereeeenen. 30

5. Latch [ Adjustable DOOT STOPS AQJUSTIMENT ....cueueiieiieieiieieie ettt ess ettt e s st et essssssesssssansessnnnans 32
5.1 Installation and Adjustment of DOOT STOP-STIHKE ..ot en 32

5.2 Latch Adjustment for Proper ENgaging With the STriKe ... 34

6. Cleaning aNd MAINTENANCE ..ottt se s e et se s s e s s e s e s es e s e s s s se s e s ssssesessssnsessessansesnnnans 36
6.1 General MainteNaNCe INSTIUCTIONS .o.oveuieeiiieiecieieieecie ettt s et se st ss st ensenas 36

6.2 FiniSh ClEANING INSTIUCTIONS  oviuieieeiieiecieiccee ettt sttt s et sess s bbb st e s se s s s ensesessnansses 36
6.3 MeChaniCal MAINTENANCE ..ottt 37

ASSA ABLOY

Copyright © 2017, ASSA ABLOY Inc. All rights reserved. Reproduction in whole Th € gl (0] bal I ead eri I'l
orin partwithout the express written permission of ASSA ABLOY Inc. is prohibited. dOOI' 0 pe ni ng SO|UtIO ns



1. Introduction

1.1 Description

e The PDUB00O Series Panic Device offers superior functionality for egress and security needs.
e The Panic Device has an aesthetically pleasing design that is available in two configurations: one for Rail Mount Doors
and one for All Glass Doors.
o Depending on configuration, the system could include a Dogging Feature. Refer to Dogging Feature (Introduction, page 4).
o Please read the Installation Instructions in this manual carefully before installing the Panic Device.

o Ifyou have questions, please contact us at (800)458-2424.

1.2  Parts List

e Each configuration of the Panic Device has its own unique parts list . Please refer to the Detailed Parts List section for

the applicable parts lists shown below.

e Detailed Parts List - Rail Mount Doors: Refer to Section 2.1.
o Detailed Parts List - All Glass Doors: Refer to Section 3.1.

1.3 Tools and Supplies

e Thetoolsand supplies listed below are necessary to complete the installation of the Panic Device.

Tools

o Allenwrenches: 5/64”,5/32”,1/8”, 3/16”, 1/4”
e Latch and Actuator Gauge

e Spanner Wrench

e« Wrench:7/16”

Suppliesincluded in kit

e Threadlocker

o Synthetic Multi-Purpose Grease
o Latch and Actuator Gauge

e Extra Door Bushings

Supplies Needed (not included in kit)
e SoftCloth

ASSA ABLOY

3 The gIOballeader In Copyright © 2017, ASSA ABLOY Inc. All rights reserved. Reproduction in whole
dOOF Open | ng SOI LItIO ns orin part without the express written permission of ASSA ABLOY Inc. is prohibited.



1.4 Dogging Feature

e The Dogging Feature is located on the bottom of the Panic Device Assembly vertical tube, directly under
the Actuator Post Assembly.

e Engage the Horizontal Crash Bar and slide the Dog Button to the up position.

e The Panic Device Assembly is dogged when the Dog Button is in the up position. Refer to Figure 1-1.

e The Panic Device Assembly is un-dogged when the Dog Button is in the down position. Refer to Figure 1-2.

Figure 1-1 Figure 1-2
Dogged Position Un-dogged Position
6 T Dog Button @
T Dog Button

ASSA ABLOY

Copyright © 2017, ASSA ABLOY Inc. All rights reserved. Reproduction in whole Th € gl (0] bal I ead eri I'l
orin partwithout the express written permission of ASSA ABLOY Inc. is prohibited. dOOI' 0 pe ni ng SO|UtIO ns



2. Instructions for Rail Mount Doors

2.1 Detailed Parts List

Panic Device Deco End

ASSA ABLOY

5 The gIOballeader In Copyright © 2017, ASSA ABLOY Inc. All rights reserved. Reproduction in whole
dOOF Open | ng SO I UtIO ns orin part without the express written permission of ASSA ABLOY Inc. is prohibited.



Description Quantity Description Quantity

@ Panic Device Assembly 1 @ DoorBushing 4
@ Vertical Door Mount ASSEMDIY ..ccooeveerereeeeecsieneee 1 @ Actuator Post Assembly 1
©® Actuator Post-Cylinder Housing Assembly .......... 1 @ PushRod 1
@ Horizontal Door Mount Assembly 1 @ Spring Tube-Spring 1
@ Mating Pull Assembly 1 @ Flat Head Socket Cap Screw (1/4"-20) ..oooveereeeeres 1
@ AdapterBlock 1 @ Latch and ACtUator GAUZE ..eeeeevveeesseeseerssssssssssenn 1
@ Socket Cap SCrew (5/16”-18) wweevvereeerresseseressssseeee 3 @ Plastic Washer 2
@ Interior Pivot Bracket POSt  ...ccoeeeeseereseneesensesne 1 @ CBushing 1
@ SetScrew(8-32) 1 @ Metal Washer 1
@ AdapterBlock Post 2 @ Conehead Union (5/16"-18) ceewvvvrrrseeesersrsssssssssenn 1
@ Nylon Lock Nut (Not Reused) eeweeereeseeerresene 2 @ Interior Horizontal Post 1
@ SetScrew Pin (1/4"-20) 2 @ SetScrew(1/4"-20) 2
@® Mating Pull-Cylinder Housing Assembly ............ 1 @ DecoEndCap 1
@ Cylinder Housing 1 @ Stud(5/16”-18) 1
@ Door Gasket 2

ASSA ABLOY

. . The global leader in
Copyright © 2017, ASSA ABLOY Inc. All rights reserved. Reproduction in whole . . 6
orin partwithout the express written permission of ASSA ABLOY Inc. is prohibited. dOOI' 0 pe ni ng SO|UtIO ns



2.2 Removal from Packaging - Rail Mount Doors

2.2.1 Introduction

o The Panic Device Assembly comes mounted on a Shipping Board inside
ashipping crate.
« Before removing from the Shipping Board, make sure that the device is )
in the un-dogged position. Refer to Introduction, page 4. T~ @
e Most of the hardware will be reused. Do not discard any parts at this time.
« Remove the Shipping Board from the shipping crate.
o Make sure that the Vertical Door Mount Assembly @, Actuator Post-
Cylinder Housing Assembly @), and Horizontal Door Mount Assembly @
are still attached to the Shipping Board when removing from the crate. T Shipping Board

@ Vertical Door Mount Assembly
©® Actuator Post-Cylinder Housing Assembly o

@ Horizontal Door Mount Assembly d
/ o

2.2.2 Remove Panic Device from Shipping Board

« Remove the Set Screw Pin @ from the Panic Device Assembly @. — 5
« Loosen the two Set Screws (1/4”-20) @) on the free end. The Set Screws —
(1/4”-20) @) are not removed in this step. Shipping Board

o Pull the Panic Device @ away from the Shipping Board by tilting the device.

@ SetScrew Pin > 0
@ Panic Device Assembly / LA

@ SetScrews (1/4"-20)

ASSA ABLOY

7 The gIOballeader In Copyright © 2017, ASSA ABLOY Inc. All rights reserved. Reproduction in whole
dOOF Open | ng SOI LItIO ns orin part without the express written permission of ASSA ABLOY Inc. is prohibited.



2.2.3 Remove Horizontal Door Mount

o Unscrew and remove the Conehead Union (5/16"-18) @.

 Remove the two Plastic Washers @, Metal Washer @), and C Bushing @).

Mating Pull Assembly
Conehead Union (5/16"-18)
Plastic Washer (x2)

Metal Washer

CBushing

0060

2.2.4 Remove Horizontal Door Mount (Deco End Cap Option)

o Unscrew and remove the Conehead Union (5/16"-18) @.

« Remove the Deco End Cap @.
 Remove the two Plastic Washers @, Metal Washer @,
and C Bushing @.

Deco End Cap

Conehead Union (5/16"-18)
Plastic Washer (x2)

Metal Washer

CBushing

o006 6

Copyright © 2017, ASSA ABLOY Inc. All rights reserved. Reproduction in whole
orin partwithout the express written permission of ASSA ABLOY Inc. is prohibited.

@ \ 5 :/’/ \Q
@ \ %’/ \ @
&@ Shipping Board
\ @
Shipping Board
>: R
D

e

@\

@ (%%@\ ®

<

®

ASSA ABLOY

The global leader in
door opening solutions



2.2.5 Remove Vertical Door Mount

o Unscrew the Set Screw (8-32) @ enough to remove the Interior
Pivot Bracket Post @.
 Remove the Interior Pivot Bracket Post @.
 Remove the Socket Cap Screw (5/16"-18) @ from the Mating Pull
Assembly @.
« Remove the two Socket Cap Screws (5/16"-18) @ and the Nylon Lock ~—
Nuts @) from the Adapter Block @. Shipping Board

Set Screw (8-32)

Interior Pivot Bracket Post
Socket Cap Screw (5/16"-18) (x3)
Mating Pull Assembly

Nylon Lock Nuts (Not Reused)

0060000

Adapter Block

2.2.6 Remove Actuator Post Assembly

« Remove the Flat Head Socket Cap Screw (1/4"-20) @).

» Remove the Actuator Post Assembly @), Push Rod @, and
Spring Tube-Spring @ from the Shipping Board.

« Hold the Mating Pull @ in place while removing the Actuator
Post Assembly @.

 Remove the Mating Pull @ from the Shipping Board.

« Remove the Door Bushing @@.

CAUTION: Make sure to contain the Spring inside the Spring Tube-Spring .

Flat Head Socket Cap Screw (1/4"-20)
Actuator Post Assembly

>0} 5 W
Push Rod T Q‘\\\\\\ (5 )

Spring Tube-Spring

Mating Pull Assembly

060606006

Door Bushing

ASSA ABLOY

9 The gIOballeader In Copyright © 2017, ASSA ABLOY Inc. All rights reserved. Reproduction in whole
dOOF Open | ng SO I LItIO ns orin part without the express written permission of ASSA ABLOY Inc. is prohibited.



2.3 Panic Device Installation - Rail Mount Doors

2.3.1

Install Panic Device on Rail Mount Door

o Lay the glass flat with the exterior side facing down on a pair of saw horses.
o Make sure that the Door Rails are installed per manufacturer’s specifications.

@® Vertical Door Mount Assembly
©® Actuator Post-Cylinder Housing Assembly
@ Horizontal Door Mount Assembly

2.3.2 Install Door Bushings

-7 88

o There are four Door Bushings @) in each package.

« Below are the different configurations of the Door Bushings ®).

o Choose the Door Bushings @ configuration that best fits your
Panic Device Assembly Installation and centers the actuator post in
the tube opening.

o Each Door Bushing @9 contains 6 ribs.

o Removal of the rib material may be necessary to ensure a proper fit.

A B

Ribs

C D

36 &

Copyright © 2017, ASSA ABLOY Inc. All rights reserved. Reproduction in whole
orin partwithout the express written permission of ASSA ABLOY Inc. is prohibited.

\

Door Rail

> B

2.3.3 Install C Bushing

« You can adjust the C Bushing @ by rotating it 360 degrees.
o Make the necessary adjustment to get equal spacing between
the sides of the Actuator Post Assembly ) and the tube opening.
o Ifthere is friction against the right side, adjust the opening of
the C Bushing @ to the right. Refer to Figure B1.
o Ifthere is friction against the left side, adjust the opening of the
C Bushing @ to the left. Refer to Figure B2.

Figure B1

i

Figure B2

ASSA ABLOY

The global leader in
door opening solutions

10



2.3.4 Install Mating Pull

o Place the Mating Pull Assembly @ on the Door.

« Install the Mating Pull-Cylinder Housing Assembly €8) with the Door Gasket B
through the holes in the Glass Door.

o Make sure that the posts that are sticking out from the Cylinder Housing
Assembly @ go through the Door Bushing 9.

Mating Pull Assembly
Mating Pull-Cylinder Housing Assembly ® ~—
Door Gasket

6060

Door Bushing Glass Door—

Cylinder Housing
Assembly Post

2.3.5 Install Actuator Post Assembly

« Install the Actuator Post Assembly @@ on top of the opening in the Glass
Door to attach to the Cylinder Housing @.
« Make sure that the Push Rod €9 goes through the bottom hole.
o Apply a small drop of Threadlocker to the threads of the Flat Head Socket (14]

Cap Screw (1/4"-20) . \

« Install the Flat Head Socket Cap Screw (1/4'-20) @) and secure until tight.

CAUTION: Make sure that the Spring Tube-Spring @) and the Push Rod @®
are inserted into the Actuator Post Assembly @@.

Actuator Post Assembly

Cylinder Housing

Push Rod

Flat Head Socket Cap Screw (1/4"-20)

060060

9

Spring Tube-Spring

Glass Door }

ASSA ABLOY

1 1 The gIOballeader In Copyright © 2017, ASSA ABLOY Inc. All rights reserved. Reproduction in whole
dOOF Open | ng SO I LItIO ns orin part without the express written permission of ASSA ABLOY Inc. is prohibited.



2.3.6 Install Vertical Door Mount

o Position the Adapter Block @ on the inside of the Door Rail.

o Install the Mating Pull Assembly @ through the Door Rail and up against
the Adaptor Block @.

o Apply a small drop of Threadlocker to the threads of the Socket Cap Screw
(5/16"-18) @.

« Attach the Adaptor Block @ to the Mating Pull Assembly @ with the
Socket Cap Screw (5/16"-18) @.

« Install the Interior Pivot Bracket Post @) on the Adaptor Block @. Make
sure that the Interior Pivot Bracket Post @) is vertical after it is installed.

« Adjust the Adapter Block Posts €@) until the Interior Pivot Bracket Post @
is centered vertically.

« Align the Interior Pivot Bracket Post @ until the slot can be seen on the
threads of the post. This is where the Set Screw (8-32) @ will install.

¢ Make sure to align the hole on the Door Rail with the hole on the
Adapter Block @.

o Apply a small drop of Threadlocker to the threads of the Set Screw (8-32) @.

« Install the Set Screw (8-32) @.
o Apply Synthetic Grease to the inside of the hole of the Interior Pivot Bracket

Post @.

Adapter Block

Mating Pull Assembly
Socket Cap Screw (5/16"-18)
Adapter Block Posts

Interior Pivot Bracket Post

Set Screw (8-32)

(6]
5]
o
[10)
0
9]

Copyright © 2017, ASSA ABLOY Inc. All rights reserved. Reproduction in whole
orin partwithout the express written permission of ASSA ABLOY Inc. is prohibited.

Door Rail

\

Door Rail

Pivot Bracket Post hole
(synthetic grease)

ASSA ABLOY

The global leader in
door opening solutions

12



2.3.7

2.3.8

13

Install Horizontal Door Mount

Install the C Bushing @) in the hole of the Glass Door.

Position the Mating Pull Assembly @ against the exterior side of the Glass Door.
Apply a small drop of Threadlocker to the threads of the Stud (5/16"-18) €.
Slide the Metal Washer @) onto the Stud (5/16"-18) € until it sits against
the Conehead Union (5/16"-18) @ on the interior side of the door.

Slide one Plastic Washer @ onto the Stud (5/16"-18) @ so it sits against the
Metal Washer @) on the interior side of the door.

Slide the Conehead Union (5/16"-18) @ with the Plastic Washer @ and

the Metal Washer @) through the C Bushing @ in the hole in the Door.
Slide the other Plastic Washer @ onto the Stud (5/16"-18) € on the
outside of the Door.

Screw the Conehead Union (5/16"-18) @ and the Stud (5/16"-18) @ into
the Mating Pull Assembly @ Post until tight. Make sure that the Metal
Washer @ does not touch the Glass Door.

CBushing

Mating Pull Assembly

Stud (5/16"-18)

Metal Washer

Conehead Union (5/16"-18)
Plastic Washer (x2)

®080060008

Install Horizontal Door Mount (Deco End Cap Option)

« Install the C Bushing @ in the hole of the Glass Door.
Apply a small drop of Threadlocker to the threads of the Stud (5/16"-18) €.
Insert the Stud (5/16"-18) @ into the Deco End Cap @®.

Place one Plastic Washer @ onto the Stud (5/16"-18) @ until it's up against
the Deco End Cap @.

o Slide the Stud (5/16"-18) @) with the Deco End Cap @ through the C Bushing @
in the hole in the Door on the exterior side of the door.

o Place one Plastic Washer @ and the Metal Washer @ onto the Stud (5/16"-18) @
on the interior side of the Door.

« Apply a small drop of Threadlocker to the threads of the Stud (5/16"-18) @).
o Screw the Conehead Union (5/16-18) @ onto the Stud (5/16"-18) @ on the
interior side of the Door.

CBushing

Mating Pull Assembly
Plastic Washer (x2)
Conehead Union (5/16"-18)
Stud (5/16'-18)

Deco End Cap

000000

ASSA ABLOY

The global leader in
door opening solutions

Glass Door
[>: N
>>
D o

K

@f;

Copyright © 2017, ASSA ABLOY Inc. All rights reserved. Reproduction in whole
orin part without the express written permission of ASSA ABLOY Inc. is prohibited.

9/9

_— Glass Door



2.3.9 Install Panic Device on Rail Mount Door

Push the Adaptor Block @ forward to expose the Interior Pivot Bracket

Post @.

Use the tilt method to install the Panic Device Assembly @. Refer to
Section 2.2.2 on page 9.

Install the Panic Device Assembly @ on the Interior Pivot Bracket Post @
that is attached to the Adaptor Block @.

Apply a small drop of Threadlocker to the threads of the Set Screw Pin
(1/4"-20 @.

Install the Set Screw Pin (1/4”-20) ®.

Align the Adaptor Block @ with threaded holes (5/16"-18) inside of the
Door Rail.

Apply a small drop of Threadlocker to the threads of the Socket Cap

Screws (5/16'-18) @.

Install the Socket Cap Screws (5/16"-18) @ and secure until tight.

o Apply a small drop of Threadlocker to the threads of the Set Screws
(1/4"-20) @.

« Tighten down both Set Screws (1/4"-20) @).

Adapter Block (6 ]
Interior Pivot Bracket Post

Panic Device Assembly

Set Screw Pin (1/4”-20)

Socket Cap Screw (5/16”-18) (x2)

Mating Pull Assembly

Conehead Union (5/16"-18)

Set Screws (1/4"-20)

O000MOO0

Q/Q

_— Glass Door

Copyright © 2017, ASSA ABLOY Inc. All rights reserved. Reproduction in whole
orin partwithout the express written permission of ASSA ABLOY Inc. is prohibited.

_—

Door Rail

The global leader in
door opening solutions

ASSA ABLOY



2.3.10 Horizontal End Threadlocker and Lube Application

2.3.11

15

 Remove the Set Screw Pin @B and move the Panic Device Assembly @)
to the side to allow access to the Interior Horizontal Post @ hole.

Apply Synthetic Multi-Purpose Grease (pea size) to the inside of the hole
of the Interior Horizontal Post @@.

o Install the Panic Device Assembly @ Handle back on the Panic Device

Assembly €.
o Apply a small drop of Threadlocker to the threads of the
Set Screw Pin @.
o Install the Set Screw Pin @.
Synthetic
@ SetScrew Pin I&/Iruelgls—gurpose N

@ Panic Device Assembly

@ Interior Horizontal Post

&

[

Align Actuator Gauge

Install the Latch and Actuator Gauge @ in the bottom of the Actuator
Post Assembly ).

If the Latch and Actuator Gauge @) cannot be installed, the alignment
must be adjusted.

Realign the Panic Device Assembly as necessary. Refer to Section 2.3.2,
Install Door Bushings.

« Do not operate the Panic Device if the Latch and Actuator Gauge @
does not fit.

@ Latch and Actuator Gauge
@ Actuator Post Assembly

ASSA ABLOY

The global leader in
door opening solutions

/

Glass Door

~

Q\? )
\
>c)

/
o

/

Glass Door

Copyright © 2017, ASSA ABLOY Inc. All rights reserved. Reproduction in whole
orin part without the express written permission of ASSA ABLOY Inc. is prohibited.



Notes

ASSA ABLOY

. . . The global leader in
Copyright © 2017, ASSA ABLOY Inc. All rights reserved. Reproduction in whole . . 1 6
orin partwithout the express written permission of ASSA ABLOY Inc. is prohibited. dOOI' 0 pe ni ng SO|UtIO ns



3. Instructions for All Glass Doors

3.1 Detailed Parts List

Panic Device Deco End

ASSA ABLOY

The global leader in _ _ o
1 ? . . Copyright © 2017, ASSA ABLOY Inc. All rights reserved. Reproduction in whole
d ooro pen | ng SO | Utl ons orin part without the express written permission of ASSA ABLOY Inc. is prohibited.



Description Quantity Description Quantity

@ Panic Device Assembly 1 @ Actuator Post Assembly 1
@ Vertical Door Mount AsSembly ....ooeecerereeeeresenee 1 @ PushRod 1
©® Actuator Post-Cylinder Housing Assembly ........... 1 @ Spring Tube-Spring 1
@ Horizontal Door Mount Assembly .......cooeeeeerenen 1 @ FlatHead Socket Cap Screw (1/4”-20) ..ecevvveeeerrnes 1
© Mating Pull Assembly 1 @ Latch and Actuator Gauge 1
@ Exterior Pivot Bracket Assembly ....ooeeeeeeeeeeressenn 1 @® Plastic Washer 2
@ Interior Pivot Bracket Assembly ........ccovovsserrvrrrens 1 @ CBushing 1
© FlatHead Socket Screw (5/16”-18) ooeeeverseeereriene 1 @ Metal Washer 1
© SetScrew Pin (1/4'-20) 2 @ Conehead Union (5/16"-18) ...cwveeeeererrmssssssssnrssens 1
@ Mating Pull-Cylinder Housing Assembly ............. 1 @ Interior Horizontal Post 1
@ Cylinder Housing 1 @ SetScrew(1/4"-20) 2
@ Door Gasket 2 @ DecokEndCap 1
@ Door Bushing 4 @ Stud(5/16"-18) 1

ASSA ABLOY

_ _ o The global leader in
Copyright © 2017, ASSA ABLOY Inc. All rights reserved. Reproduction in whole . . 1 8
orin partwithout the express written permission of ASSA ABLOY Inc. is prohibited. d ooro pen | ng SO | Ut| ons



3.2 Removal from Packaging - All Glass Doors

3.2.1 Introduction

o The Panic Device Assembly comes mounted on a Shipping Board inside
ashipping crate.

« Before removing from the Shipping Board, make sure that the device is

in the un-dogged position. Refer to Introduction, page 4. — @

Most of the hardware will be reused. Do not discard any parts at this time.

« Remove the Shipping Board from the shipping crate.

o Make sure that the Vertical Door Mount Assembly @, Actuator Post-
Cylinder Housing Assembly @), and Horizontal Door Mount Assembly @
are still attached to the Shipping Board when removing from the crate.

Shipping Board

@ Vertical Door Mount Assembly
©® Actuator Post-Cylinder Housing Assembly
@ Horizontal Door Mount Assembly (3] 77@

3.2.2 Remove Panic Device from Shipping Board /
B

« Remove the Set Screw Pin @ from the Panic Device Assembly €.
« Loosen the two Set Screws (1/4”-20) @ on the free end. The Set Screws —

(1/47-20) @ are not removed in this step. Shipping Board
« Pull the Panic Device @) away from the Shipping Board by tilting the device.

© SetScrewPin —>
@ Panic Device Assembly /v\

@ SetScrews(1/4”-20)

ASSA ABLOY

The global leader in _ _ o
1 9 . . Copyright © 2017, ASSA ABLOY Inc. All rights reserved. Reproduction in whole
d ooro pen | ng SO| Utl ons orin part without the express written permission of ASSA ABLOY Inc. is prohibited.



3.2.3 Remove Horizontal Door Mount

« Unscrew and remove the Conehead Union (5/16"-18) @.
 Remove the two Plastic Washers @§), Metal Washer @, and C Bushing @.

© Mating Pull Assembly \
@ Conehead Union (5/16"-18) o
@ Plastic Washer (x2) —
@ Metal Washer O
@ CBushing
© e
®
\

O

Shipping Board

3.2.4 Remove Horizontal Door Mount (Deco End Cap Option)

o Unscrew and remove the Conehead Union (5/16"-18) @.

 Remove the Deco End Cap @

 Remove the two Plastic Washers @), Metal Washer @),
and C Bushing @.

Shipping Board

@ DecoEndCap [25) .
@ Conehead Union (5/16"-18) ©®

@ Plastic Washer (x2)

@ Metal Washer

@ CBushing ®\ -

o S
@@5 o
§ \

ASSA ABLOY

_ _ . The global leader in
Copyright © 2017, ASSA ABLOY Inc. All rights reserved. Reproduction in whole . .
orin partwithout the express written permission of ASSA ABLOY Inc. is prohibited. d Oor O pen | ng SO | Utl Ons



3.2.5 Remove Vertical Door Mount

« Remove the Flat Head Socket Screw (5/16"-18) @ from the Interior Pivot
Bracket Assembly @.

« Remove the Interior Pivot Bracket Assembly @ from the Shipping Board.

@ Flat Head Socket Screw (5/16"-18) Shipping Board
@ Interior Pivot Bracket Assembly
@ Exterior Pivot Bracket Assembly -

© Mating Pull Assembly _— o

3.2.6 Remove Actuator Post Assembly

« Remove the Flat Head Socket Cap Screw (1/4"-20) €.
 Remove the Actuator Post Assembly @), Push Rod @9, and
Spring Tube-Spring @ from the Shipping Board.
« Hold the Mating Pull @ in place while removing the Actuator Post Assembly .
« Remove the Mating Pull @ from the Shipping Board.
Remove the Door Bushing ®.

CAUTION: Make sure to contain the Spring inside the Spring Tube-Spring .

Flat Head Socket Cap Screw (1/4"-20)
Actuator Post Assembly

Push Rod

Spring Tube-Spring

Mating Pull Assembly

0060606

Door Bushing

ASSA ABLOY

The global leader in _ _ o
! 1 . . Copyright © 2017, ASSA ABLOY Inc. All rights reserved. Reproduction in whole
d ooro pen | ng SO| Utl ons orin part without the express written permission of ASSA ABLOY Inc. is prohibited.



3.3 Panic Device Installation - All Glass Doors

3.3.1

Install Panic Device on All Glass Door

o Lay the glass flat with the exterior side facing down on a pair of saw horses.
« Make sure that the Door Rails are installed per manufacturer’s specifications.

@ Vertical Door Mount Assembly
©® Actuator Post-Cylinder Housing Assembly
@ Horizontal Door Mount Assembly

3.3.2 Install Door Bushings

o There are four Door Bushings @) in each package.

« Below are the different configurations of the Door Bushings 8.

o Choose the Door Bushings @) configuration that best fits your
Panic Device Assembly Installation and centers the actuator post in
the tube opening.

o Each Door Bushing €9 contains 6 ribs.

« Removal of the rib material may be necessary to ensure a proper fit.

A B

Ribs

C D

36 &

Copyright © 2017, ASSA ABLOY Inc. All rights reserved. Reproduction in whole
orin partwithout the express written permission of ASSA ABLOY Inc. is prohibited.

>

3.3.3 Install C Bushing

« You can adjust the C Bushing @) by rotating it 360 degrees.
o Make the necessary adjustment to get equal spacing between
the sides of the Actuator Post Assembly @ and the tube opening.
o Ifthere is friction against the right side, adjust the opening of
the C Bushing @ to the right. Refer to Figure B1.
o Ifthere is friction against the left side, adjust the opening of the
C Bushing @ to the left. Refer to Figure B2.

Figure B1

Figure B2

i

ASSA ABLOY

The global leader in
door opening solutions

22



3.3.4 Install Mating Pull

o Place the Mating Pull Assembly @ on the Door.

« Install the Mating Pull-Cylinder Housing Assembly €@) with the Door Gasket @&
through the holes in the Glass Door.

o Make sure that the posts that are sticking out from the Mating Pull Cylinder
Housing Assembly @ go through the Door Bushing @®.

Mating Pull Assembly

Mating Pull-Cylinder Housing Assembly

Door Gasket

Door Bushing Glass Door—

@060

Cylinder Housing
Assembly Post

3.3.5 Install Actuator Post Assembly

Install the Actuator Post Assembly @ on top of the opening in the Glass
Door to attach to the Cylinder Housing 0.
 Make sure that the Push Rod €9 goes through the bottom hole.
Apply a small drop of Threadlocker to the threads of the Flat Head Socket
Cap Screw (1/4'-20) @. o
« Install the Flat Head Socket Cap Screw (1/4"-20) @ and secure until tight. \

CAUTION: Make sure that the Spring Tube-Spring €9 and the Push Rod @®
are inserted into the Actuator Post Assembly @@.

@ Actuator Post Assembly

@ Cylinder Housing

@ PushRod

@ FlatHead Socket Cap Screw (1/4”-20)
@ Spring Tube-Spring

0

Glass Door }

ASSA ABLOY

The global leader in _ _ o
!3 . . Copyright © 2017, ASSA ABLOY Inc. All rights reserved. Reproduction in whole
d ooro pen | ng SO | Utl ons orin part without the express written permission of ASSA ABLOY Inc. is prohibited.



3.3.6 Install Vertical Door Mount

« Hold the Mating Pull Assembly @ on the exterior side of the Glass Door.

« Install the Interior Pivot Bracket Assembly @ so that it aligns with the
Exterior Pivot Bracket Assembly @.

o Apply a small drop of Threadlocker to the threads of the Flat Head Socket
Screw (5/16"-18) @.

« Attach the Interior Pivot Bracket Assembly @ to the Exterior Pivot Bracket
Assembly @ with the Flat Head Socket Screw (5/16"-18) @.

o Apply Synthetic Grease to the inside of the hole of the Interior Pivot Bracket

Assembly @.
© Mating Pull Assembly (6 )
@ Interior Pivot Bracket Assembly \
@ Exterior Pivot Bracket Assembly /ﬂ:a
Glass Door
@ FlatHead Socket Screw (5/16"-18) ° -
—
‘ y 7 Interior Side
___— Glass Door
Pivot Bracket Hole
) (Synthetic Grease)
—

\@

ASSA ABLOY

_ _ o The global leader in
Copyright © 2017, ASSA ABLOY Inc. All rights reserved. Reproduction in whole . . 2 4
orin partwithout the express written permission of ASSA ABLOY Inc. is prohibited. d ooro pen | ng SO | Ut| ons



3.3.7

3.3.8

25

Install Horizontal Door Mount

« Install the C Bushing @) in the hole of the Glass Door.

« Position the Mating Pull Assembly @ against the exterior side of the Glass Door.

o Apply a small drop of Threadlocker to the threads of the Stud (5/16"-18) @.

o Slide the Metal Washer @) onto the Stud (5/16"-18) @ until it sits against
the Conehead Union (5/16"-18) @ on the interior side of the Glass Door.

« Slide one Plastic Washer @) onto the Stud (5/16"-18) @ so it sits against the
Metal Washer @) on the interior side of the Glass Door.

o Slide the Conehead Union (5/16'-18) @ with the Plastic Washer @) and
the Metal Washer @ through the C Bushing @) in the hole in the Glass Door.

« Slide the other Plastic Washer @) onto the Stud (5/16"-18) @ on the
outside of the Glass Door.

« Screw the Conehead Union (5/16"-18) @ and the Stud (5/16"-18) @ into
the Mating Pull Assembly @ Post until tight. Make sure that the Metal
Washer @ does not touch the Glass Door.

@ CBushing

@ Mating Pull Assembly

@ stud (5/16-18)

@ Metal Washer

@ Conehead Union (5/16"-18)

@ Plastic Washer (x2)

Install Horizontal Door Mount (Deco End Cap Option)

Install the C Bushing @ in the hole of the Glass Door.
« Apply a small drop of Threadlocker to the threads of the Stud (5/16"-18) €.
o Insert the Stud (5/16"-18) @ into the Deco End Cap @.

o Place one Plastic Washer @) onto the Stud (5/16"-18) @ until it's up against
the Deco End Cap @.

o Slide the Stud (5/16"-18) @ with the Deco End Cap @ through the C Bushing @
in the hole in the Door on the exterior side of the door.

o Place one Plastic Washer @) and the Metal Washer @ onto the Stud (5/16"-18) @
on the interior side of the Door.

« Apply a small drop of Threadlocker to the threads of the Stud (5/16"™-18) @.

o Screw the Conehead Union (5/16-18) @ onto the Stud (5/16"-18) @ on the
interior side of the Door.

CBushing

Mating Pull Assembly
Plastic Washer (x2)
Conehead Union (5/16"-18)
Stud (5/16'-18)

©O00B6O6006

Deco End Cap

ASSA ABLOY

The global leader in
door opening solutions

@ _— Glass Door

Glass Door
2> N
o

o

@% '\@

@f\g

2]

Copyright © 2017, ASSA ABLOY Inc. All rights reserved. Reproduction in whole
orin part without the express written permission of ASSA ABLOY Inc. is prohibited.



3.3.9 Install Panic Device on All Glass Door

o Use the tilt method to install the Panic Device Assembly @ on the Glass
Door. Refer to Section 3.2.2 on page 21.

o Apply a small drop of Threadlocker to the threads of the Set Screw Pin

(1/4"-20) @. \ /
« Install the Set Screw Pin (1/4”-20) @.

« Attach the Panic Device Assembly @ to the Conehead Union (5/16"-18) @.
o Install the Set Screws (1/4”-20) @ and secure until tight.

Panic Device Assembly

Mating Pull Assembly

(5]

@ et Screw Pin (1/4-20) — /“
® I

(7]

Conehead Union (5/16"-18)
Set Screws (1/4"-20)

\e

—

Glass Door

§/6

_— Glass Door

ASSA ABLOY

_ _ o The global leader in
Copyright © 2017, ASSA ABLOY Inc. All rights reserved. Reproduction in whole . . 26
orin partwithout the express written permission of ASSA ABLOY Inc. is prohibited. d ooro pen | ng SO | Utl ons



3.3.10 Horizontal End Threadlocker and Lube Application

 Remove the Set Screw Pin @ and move the Panic Device Assembly @)
to the side to allow access to the Interior Horizontal Post @) hole.

Apply Synthetic Multi-Purpose Grease (pea size) to the inside of the hole
of the Interior Horizontal Post €.

o Install the Panic Device Assembly @ Handle back on the Panic Device

Assembly €.
o Apply a small drop of Threadlocker to the threads of the
Set Screw Pin @.
o Install the Set Screw Pin @. - -
Synthetic
. Multi-Purpose ™ ™~
© SetScrew Pin Grease

@ Panic Device Assembly

@ Interior Horizontal Post

/ /

Glass Door Glass Door

3.3.11 Align Actuator Gauge

Install the Latch and Actuator Gauge @ in the bottom of the Actuator
Post Assembly @.

If the Latch and Actuator Gauge @) cannot be installed, the alignment
must be adjusted.

Realign the Panic Device Assembly as necessary. Refer to Section 3.3.2,
Install Door Bushings.

o Do not operate the Panic Device if the Latch and Actuator Gauge @
does not fit.

@ Latch and Actuator Gauge
@ Actuator Post Assembly

ASSA ABLOY

The global leader in _ _ o
! ? . . Copyright © 2017, ASSA ABLOY Inc. All rights reserved. Reproduction in whole
d ooro pen | ng SO| Utl ons orin part without the express written permission of ASSA ABLOY Inc. is prohibited.



4. Strike Installation

4.1 Header Preparation for Single and Double Manual Strikes with
Adjustable Door Stops

o Prepare the Header with 5/16"-18 tapped holes.
o Use Threadlocker on the Socket Cap Screws (5/16”-18 x 1”) and the 1/4” hex tool.
¢ Use the shims as required.

Single Door

4.625

| Strike
a8
' /]
LA J L Y
\u'ﬂ

Adjustable |
Door STopx 2375

i H Centerline of
1/2" Glass Door
4.125
! 1
\ \—Cemerline of
Edge of Door | 3/4" Glass Door

625

O

b

Strike Shim

Figure 4-1

ASSA ABLOY

Copyright © 2017, ASSA ABLOY Inc. All rights reserved. Reproduction in whole The glObaIIeader ||'| 28
orin partwithout the express written permission of ASSA ABLOY Inc. is prohibited. dOOI' 0 pe ni ng SO|UtIO ns



4.1 Header Preparation for Single and Double Manual Strikes with
Adjustable Door Stops (Continued)

Double Door

12875

5.5425 5.5525

1.50 —f - f% —( )- - ° - - -

/A
A 7
/
Adjusfqble_// Strike/ |

DoorStop

) _t[ |J 74\
2.25
C entedine of 2.375

152" Glass Door‘x

Centetline of
34" Glass Door

Ly

.05

\Sirike Shirm q of Frame Opening

Figure 4-2

Shims

ASSA ABLOY

The global leader in
29  door opening solutions

_t
h !I .625
_r

Copyright © 2017, ASSA ABLOY Inc. All rights reserved. Reproduction in whole
orin part without the express written permission of ASSA ABLOY Inc. is prohibited.



4.2 Header Preparation for Single and Double Electrical Strikes
with Adjustable Door Stops

o Prepare the Header with 5/16"-18 threaded holes.
o Use Threadlocker on the Socket Cap Screws (5/16”-18 x 1”) and the 1/4” hex tool.

Single Door
' 8.23 |
6.00
Strike
223 - © 1 -— S
—_
\J 4 1
1.44
Adjustable ‘ 1.56
Door Stop— - - T - - N *
! |\—Cen’rerline of
Edge of the h
/_Door 1/2" Glass Door
Centerline of
|—7 4.125 —— = 3/4" Glass Door
@
; o Te
75 O O
Figure 4-3
Copyright © 2017, ASSA ABLOY Inc. All rights reserved. Reproduction in whole —d”;?) rgloopbear! Ilr?gcsi(e)[ljtnlo ns 3 0

orin partwithout the express written permission of ASSA ABLOY Inc. is prohibited.



4.2 Header Preparation for Single and Double Adjustable Door Stop
with Electrical Strike (Continued)

Double Doors

Centerline of
1/2" Glass Door

Strike 7.19 7.19
) N
Wu\; el 0_05@ ey _ ol
H—— | =T,
| pge | U o

Centerline of
3/4" Glass Door

”

L
T
L

75 O i O

G of frame opening

‘_‘

Figure 4-4

ASSA ABLOY

3 1 The gIOballeader In Copyright © 2017, ASSA ABLOY Inc. All rights reserved. Reproduction in whole
dOOF Open | ng SO I UtIO ns orin part without the express written permission of ASSA ABLOY Inc. is prohibited.



5. Door Stop Adjustment

5.1 Installation and Adjustment of Door Stop-Strike

INSTALLATION

o Attach the strike to the header using the Socket Cap Screws (5/16”-18).

¢ Close the door. The door should come to rest on the rubber stop pads.

There should be approximately 1/16" play between the latch face and the strike face.
o The retractable latch should automatically move upward and engage in the strike.

o Ifthe retractable latch does not engage in the strike, move the door stops in.

« Tighten 8-32 screws to lock down adjustment door stops.

ADJUSTMENT

o To adjust the stop, loosen the 8-32 set screws and remove the rubber end pieces.
o Use an Allen Wrench (1/4”) to rotate in or out as needed.

Rail Mount

—| |~=— Adjustable Stops

Door Strike

If the retractable latch is loose inside the strike (door is rattling), move the door stops out.

Glass Mount

Adjustable Stops

Door Gap

Door Strike
\ —— Door Gap
8-32 Set Screws " 8-32 Set Screws [
\

Figure 5-1

Copyright © 2017, ASSA ABLOY Inc. All rights reserved. Reproduction in whole
orin partwithout the express written permission of ASSA ABLOY Inc. is prohibited.

o
° T | |7=(—

1

ASSA ABLOY

The global leader in
door opening solutions

32



5.1 Installation and Adjustment of Door Stop-Strike (Continued)

USING THE LATCH AND ACTUATOR GAUGE

« Ifthe Gauge has any play, adjust the Strike by adding shims. Refer to Figure 5-2 for the minimum engagement.
« If the Gauge has any play, adjust the Strike by adding shims. Refer to Figure 5-3 for the maximum engagement.

/

Latch & Actuator — [ —
Gauge

Figure 5-2 Figure 5-3

ASSA ABLOY

33 The gIOballeader In Copyright © 2017, ASSA ABLOY Inc. All rights reserved. Reproduction in whole
dOOF Open | ng SO I LItIO ns orin part without the express written permission of ASSA ABLOY Inc. is prohibited.



5.2 Latch Adjustment for Proper Engaging with the Strike

o The Latch can be adjusted up and down. Figures 5-5 and 5-6 show the maximum and the minimum dimensions for the Strike location.

« Remove the Flat Head Screw (6-32) at the top of the Panic Device Assembly Handle with a 5/64” Hex Tool.

« Rotate the Latch a full 360 degrees turn in the left or right direction to get the height adjustment required. Turn in the counter clockwise
direction to increase the height. Turn in the clockwise direction to decrease the height.

o Make sure that both of the holes are aligned.

Apply Threadlocker to the screw before it is replaced.

o After the height adjustment is made, replace the Flat Head Screw (6-32).

o CAUTION: If the screw is not replaced, the latch may rotate. This may cause the Latch to disengage.

o CAUTION: Do notremove the Pan Head Machine Screw (4-40).

Header

Bottom —\‘
Latch \Jﬂ_‘
3 '=

|———

1/8"to 1/4"

Ceiling
Clearance

T FatHead Screw (6-32)

CAUTION
I

)“// Do not Remove the Screw

Figure 5-4

ASSA ABLOY

Copyright © 2017, ASSA ABLOY Inc. All rights reserved. Reproduction in whole The glObaIIeader II'\ 34
orin partwithout the express written permission of ASSA ABLOY Inc. is prohibited. dOOI' 0 pe ni ng SO|UtIO ns



5.2 Latch Adjustment for Proper Engaging with the Strike (Continued)

e Figure 5-5 is for the maximum height from the top of the Tube to the bottom of the Strike.
o Figure 5-6 is for the minimum height from the top of the Tube to the bottom of the Strike.
« One turn of the Latch equals approximately 0.042 inches.

0.25 (6.35) 0.125 (3.180)
T S
AT Al
© ©
AN AN
_/ _/
Figure 5-5 Figure 5-6
/

Gauge lines on Latch

Figure 5-7
35 The gIOballeader In Copyright © 2017, ASSA ABLOY Inc. All rights reserved. Reproduction in whole
dOOF Open | ng SO I LItIO ns orin part without the express written permission of ASSA ABLOY Inc. is prohibited.



6. Cleaning and Maintenance

6.1 General Maintenance Instructions

« Periodically check the fasteners. The fasteners must not be loose. If the fasteners are loose, reapply threadlocker and tighten as necessary.

6.2 Finish Cleaning Instructions

o CAUTION: Before you clean the entire Panic Device Assembly, clean a small test area to make sure that you are satisfied with the results.
o Frequent cleaning extends the life of all finishes.

Finish Code Finish Cleaning Instructions

us32 Polished Stainless Steel Use a soft cloth and a good metal cleaner. We recommend Mr. Metal by S.C. Johnson
Company.

us32D Satin Stainless Steel Use a soft cloth and a good metal cleaner. We recommend Mr. Metal by S.C. Johnson
Company.

US32DMS Satin MicroShield Coated Use a soft cloth and mild soap and water. Never use brass polish or an abrasive
cleaner unless you intend to remove all clear coat and totally refinish the product.

US32MS Polished MicroShield Coated | Use a soft cloth and mild soap and water. Never use brass polish or an abrasive
cleaner unless you intend to remove all clear coat and totally refinish the product.

10BE Oxidized & Oiled Bronze Use a soft cloth and mild soap and water. Never use brass polish or an abrasive

Powder Coat Equivalent cleaner unless you intend to remove all clear coat and totally refinish the product.

RPC Red Powder Coat Use a soft cloth and mild soap and water. Never use brass polish or an abrasive
cleaner unless you intend to remove all clear coat and totally refinish the product.

WPC White Powder Coat Use a soft cloth and mild soap and water. Never use brass polish or an abrasive
cleaner unless you intend to remove all clear coat and totally refinish the product.

BPC Black Powder Coat Use a soft cloth and mild soap and water. Never use brass polish or an abrasive
cleaner unless you intend to remove all clear coat and totally refinish the product.

FBPC Flat Black Powder Coat Use a soft cloth and mild soap and water. Never use brass polish or an abrasive
cleaner unless you intend to remove all clear coat and totally refinish the product.

CUSTOM PC Custom Powder Coat Use a soft cloth and mild soap and water. Never use brass polish or an abrasive
cleaner unless you intend to remove all clear coat and totally refinish the product.

314E Powder Coat Equivalent of 314 | Use a soft cloth and mild soap and water. Never use brass polish or an abrasive

Extra Dark Bronze Anodized cleaner unless you intend to remove all clear coat and totally refinish the product.

Copyright © 2017, ASSA ABLOY Inc. All rights reserved. Reproduction in whole
orin partwithout the express written permission of ASSA ABLOY Inc. is prohibited.

ASSA ABLOY

The global leader in
door opening solutions

36



6.3 Mechanical Maintenance

o CAUTION: Make sure the following maintenance steps are completed before operating the Panic Device.
« Refer to the appropriate sections of this Panic Device manual for Threadlocker and Lube applications and their locations.

Threadlocker is applied to the following parts

Part Description Configuration

2x SHCS (5/16”-18) for Adaptor Block Glass with Rails

FHSCS (5/16”-18) for Interior Mounting Bracket All Glass

Set Screw Pins (1/4”-20) All

2x Cup Point Set Screw (1/4”-20 x 5/16") for Post Base Section All

Deco End Cap (threads) All

FHSCS (1/4”-20) for Actuator Post All

FHSCS (6-32) for Latch Assembly All

2x SHCS (5/16”-18) for Manual Strike All Single Manual Strike
3x SHCS (5/16”-18) for Double Manual Strike All Double Manual Strike
2x SHCS (5/16"-18) for Electric Strike All Single Electric Strike
4x SHCS (5/16"-18) for Double Electric Strike All Double Electric Strike

Lubricant is applied to the following parts

Part Description Configuration
Post Base Section All

Interior Pivot Bracket Glass with Rails
Interior Mounting Bracket All Glass

ASSA ABLOY

37 The gIOballeader In Copyright © 2017, ASSA ABLOY Inc. All rights reserved. Reproduction in whole
dOOF Open | ng SOI LItIO ns orin part without the express written permission of ASSA ABLOY Inc. is prohibited.



Torque Values for different Thread Types

Thread Type Torque Requirement - in-lbs (N-m)
6-32 9.6 in-Ib (1 N-m)

8-32 19.8 in-Ib (2.5 N-m)

12-24 55in-b (6 N-m)

1/4-20 752 in-Ib (9 N-m)

5/16-18 132in-Ib (16 N-m)

ASSA ABLOY

Copyright © 2017, ASSA ABLOY Inc. All rights reserved. Reproduction in whole The glObaIIeader II'I 38
orin partwithout the express written permission of ASSA ABLOY Inc. is prohibited. dOOI' 0 pe ni ng SO|UtIO ns



ASSA ABLOY is the global

leader in door opening solutions,
dedicated to satisfying

end-user needs for security
safety and convenience

www.assaabloyglass.com

USA:

ASSA ABLOY Glass Solutions
Rockwood, PA 15557
Phone: 855.594.6989

Copyright © 2017, ASSA ABLOY Inc. All rights reserved. Reproduction in whole orin part
without the express written permission of ASSA ABLOY Inc. is prohibited.

Canada:

ASSA ABLOY Door Security Solutions
Vaughan, ON L4K 4T9

Phone: 800.461.3007

ASSA ABLOY

3305D3 07/17



